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TWIST2 TXNIP TYMS U2AF1 UBC UBE2C UHRF1 USP11 VDAC1 VDR VEGFC VIM WEE1 WNT3A WNT4 WNT5A WNT5B WT1 WWOX WWTR1 XIAP YAP1 YWHAE YY1 ZEB1 ZEB2 ZFYVE9

TFRC TGFA TGFB1 TGFB2 TGFB3 TGFBR1 TGFBR2 TGFBR3 TGM2 THBD THBS1 TIAM1 TIMP2 TIMP3 TJP1 TMPRSS2 TMPRSS4 TNF TNFSF11 TOP2A TP53 TP53INP1 TP73 TRIM33 TSC1 TUBB3 TWIST1

SPOCK1 SPP1 SPRED1 SPRED2 SPRY1 SPRY2 SQSTM1 SRC SRF STAT1 STAT3 STAT5A STAT5B STIM1 STK11 STMN1 SUZ12 SYK SYP TBX3 TCF3 TCF4 TCF7L2 TEAD4 TERT TF TFF1

SIX1 SKI SKP1 SKP2 SLC25A4 SLC2A1 SLC39A6 SMAD1 SMAD2 SMAD3 SMAD4 SMAD7 SMARCA2 SMARCA4 SMURF1 SMURF2 SNAI1 SNAI2 SNCA SOCS3 SOX4 SOX5 SOX9 SP1 SPARC SPDEF SPHK1

RELA RET RGCC RHOA RHOB RHOC ROCK1 RPS27A RUNX1 RUNX3 RXRA SATB1 SCN5A SDC1 SDCBP SEMA3C SERPINB3 SERPINB5 SERPINE1 SETD2 SFN SFRP1 SHC1 SHH SIRT1 SIRT2 SIRT6

PRDX1 PRKCA PRKCE PRKCZ PRKD1 PRNP PROM1 PRRX1 PSMC1 PSMC4 PSMD10 PTCH1 PTEN PTGS2 PTK2 PTK2B PTK6 PTPN11 PTPN14 PTTG1 RAB25 RAB5A RAC1 RAF1 RARA RASSF1 RB1

OVOL2 PAK4 PARD3 PARP1 PAWR PAX8 PCBP1 PCNA PDCD4 PDGFD PDGFRA PDGFRB PDPN PEBP4 PGR PIK3CA PIK3CG PIK3R1 PIK3R3 PIMREG PKM PLAUR PLK1 PLK4 POSTN PPARG PPP2CA

NAMPT NDRG1 NDRG2 NEDD9 NEK2 NES NF1 NFE2L2 NFKB1 NGF NGFR NKX2−1 NLRP3 NME1 NODAL NOG NOTCH1 NOTCH2 NOTCH4 NRAS NRP1 NRP2 NT5E NTN1 NTRK2 NTS NUMB

MECOM MECP2 MIF MITF MKI67 MME MMP1 MMP13 MMP14 MMP2 MMP3 MMP9 MOSPD1 MRTFA MSN MST1R MSX1 MTDH MTOR MTR MUC1 MUC16 MUC4 MYB MYBL2 MYC MYCN

LAMC2 LATS1 LATS2 LCN2 LDHA LGALS1 LGALS3 LIMS1 LMNB1 LOX LTBP1 MACC1 MAD2L2 MAP2K1 MAP2K4 MAP3K7 MAPK1 MAPK10 MAPK14 MAPK3 MAPK7 MAPK8 MCAM MCL1 MCM2 MCM5 MDK

ITGAV ITGB1 ITGB3 JAG1 JAK2 JUN JUNB JUP KAT2B KDM1A KDM8 KDR KIT KLF17 KLF4 KLF6 KLF8 KLK4 KLK6 KRT14 KRT17 KRT18 KRT19 KRT5 KRT7 KRT8 LAMB3

HS3ST3B1 HSPA1A ID2 IDH1 IFNG IGF1 IGF1R IGF2 IGFBP3 IGFBP7 IKBKB IL10 IL17RD IL1A IL33 IL4 IL6 IL6R ILK INHBA INS IQGAP1 IRF8 IRS1 ITGA2 ITGA5 ITGA6

FOXP1 FOXQ1 FZD2 FZD4 FZD7 GAPDH GDF15 GDNF GJA1 GLI1 GLO1 GMNN GOLM1 GPI GREM1 GRHL2 GRN GSN HBEGF HEY2 HGF HMGA2 HMGB1 HNRNPK HOXB13 HOXB9 HRAS

FAP FAS FBP1 FBXL7 FBXW7 FERMT2 FGF1 FGF10 FGF2 FGF7 FGFR1 FGFR2 FGFR4 FLNA FLT1 FN1 FOSL1 FOXA1 FOXA2 FOXC2 FOXF1 FOXF2 FOXK1 FOXL2 FOXM1 FOXO1 FOXO3

ELF3 ENG ENO1 EP300 EPAS1 EPB41L3 EPCAM EPHA3 EPO ERBB2 ERBB3 ERBB4 EREG ERG ESR1 ESRP1 ESRP2 ESRRA ETS1 ETS2 EZH2 EZR F11R F2R F3 FAM3C FAM83D

CXCL12 CXCL5 CXCL8 CYP1B1 CYP3A4 DAB2 DAB2IP DCN DDR1 DDR2 DDX17 DDX5 DES DICER1 DLC1 DNMT1 DNMT3B E2F1 E2F3 ECM1 EDN1 EDNRA EFEMP1 EGFR EGR1 EIF4E EIF5A2

CHEK1 CHGA CHRNA7 CIP2A CLCA2 CLDN1 CLDN3 CLDN4 CLDN7 CLU COL1A1 CRB2 CREB1 CREBBP CRKL CSNK2A1 CTNNAL1 CTNNB1 CTNNBIP1 CTNND1 CTSB CUL1 CUL3 CUL7 CUX1 CXADR CXCL1

CCND2 CCND3 CCNE1 CCR2 CCR6 CD24 CD274 CD36 CD44 CD82 CDC20 CDC25A CDC42 CDC6 CDH1 CDH11 CDH2 CDH3 CDK14 CDK5 CDK6 CDKN1B CDKN2A CDKN3 CDX2 CEBPA CEP164

AXIN2 AXL BAX BCL2 BCL2L1 BCL9L BDNF BECN1 BIRC5 BMI1 BMP2 BMP4 BMP6 BMPR2 BRAF BRCA1 BSG BTRC CA9 CALCA CAT CAV1 CCL18 CCL2 CCL5 CCN1 CCNA2

ABCB1 ABCG2 ABL1 ACTA2 ACTC1 ADAM10 ADIPOQ AFP AGT AGTR1 AHR AKNA AKT2 AKT3 ALDH1A1 ALX1 ANXA2 APC AQP5 AR AREG ARRB1 ASCL1 ATL1 ATM AURKA AURKB
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